AMPEX

AMPEX COMPUTER PRODUCTS COMPANY

SECTION II

INSTALLATION

2-1, SELECTION OF LOCATION,

2-2. The selection of a location for the tape transport should be based on
the following factors:

a. The rack cabinet or rack selected must be capable of mounting
and supporting the following components:

HEIGHT DEPTH FROM

COMPONENT WEIGHT REQUIRED RACK FACE
Tape transport 167 1b, 35 14"
Transport electronics ass'y

Vertical mounting 701Db. 18" A

Horizontal mounting 70 1b, ™ 18"
Manual control panel 81b, 7" - 3-1/2v
Voltage régulator 241b, --- ' -
Transport access door 241b, -—— -

b. Read and write electronics must be placed so that lengthening of
the head cables beyond the 80" length supplied is not required.
The increased capacitance associated with long head cables will
impair high-frequency response,

c. The unit should be located in an area characterized by ambient
temperatures between 60° and 80° F, 40% - 60% RH,
1%’... 3¢ Srcladrive lbmm'—(\%
d. The unit must not be located in proximity to any strong magnetic
fields, ’

e. A reasonably dust and dirt free environment is required,



TM-2 Tape Transport

INSTALLATION

2-3, Components of the tape transport are designed for mounting in a stand-
ard 19-inch cabinet rack, If the unit is supplied with an Ampex cabinet rack,
it is shipped nearly fully assembled and cabled, and the rack need only be
fastened in position,

2-4, The manual control panel, if supplied, may be mounted on the
same bracket as a horizontally-mounted trans/port electronics assembly;
this configuration requires no additional rack space for the manual con-
trol panel, The manual control panel may also be mounted directly above
a vertically-mounted transport electronics assembly, In this configura-
tion, seven inches of rack space are requii'ed for the manual control panel,

2-5, The voltage regulator is mounted on the side panel of Ampex
cabinet racks, In custom installations, it may be mounted similarly or
in any other convenient location which affords ample support,

2-6, The dimensions and recommended clearances for the Ampex
cabinet rack are shown in Figure 2-1, In general, similar clearances
will be required for all mounting schemes,

2-1, UNCRATING,

2-8, Each TM-2 tape transport is packed in a custom-built case for maxi-
mum protection in shipment, This case is designed for shipment in a hori-
zontal attitude, and should not be handled in an upright position, In uncrating
the tape transport, dismantle the shipping case carefully to avoid damage,
Check the contents of the container carefully against the packing slip, and
investigate the equipment for damage.

2-9, The voltage regulator transformer (shipped unmounted) must be
mounted in the cabinet, Voltage regulator transformers for 60 cycle tape
transports are mounted on the right side of the cabinet as viewed from the
rear; voltage regulator transformers for 50 cycle tape transports are simi-
larly mounted on the left side of the cabinet, Tapped holes are provided in
the cabinet for the voltage regulator transformer and for cable clamps hold-
ing the connécting cable to TB709 on the tape transport,

2-10, When the equipment is shipped in an Ampex cabinet rack, a shipping
lock will be found in the form of a strap over the transport latch (inside the
cabinet), The two screws holding this strap must be removed before the
latch may be operated,



AMPEX

AMPEX COMPUTER PRODUCTS COMPANY

J

C

g
t S—
o o 73l2
e O O O
T N ! i
U L ‘ Mm 3 a3 =
23% 4 304 MR

Figure 2-1 ,
Dimensions and Clearances, Ampex Cabinet Rack

2-3



TM-2 Tape Transport

INSTALLATION

CAUTION

The transport should not be swung from the face of the rack
until the rack cabinet is securely bolted to the floor,

2-11, Transports shipped in an Ampex cabinet rack and utilizing a horizon-
tally mounted transport electronics assembly have additional shipping locks
in the form of angle brackets at each side of the transport electronics as-
sembly, attaching this assembly to the inner frame of the rack cabinet,
When these locks are removed, the transport electronics assembly may be
withdrawn from the front of the rack for servicing,

2-12, Transports shipped unmounted for custom installation should be care-
fully removed from the shipping case, The tape transport should be lifted
only by the cast main frame,

2-13, MOUNTING (CUSTOM INSTALLATIONS),

2-14, The following procedure is recommended for custom installations of
the tape transport:

Step 1: Place the rack on its back on the floor,

Step 2: Mount the hinge block (Ampex Part No, 31 01320 10) to the left
side rail of the rack using the eight 12-24 by 1/2-inch flat head
screws provided, A hole pattern for the hinge block is shown in
Figure 2-2,

Step 3: Lift the transport by the cast main frame and place in position on
the rack, with the hinge portion of the casting between the blocks
of the hinge block strip.

Step 4: Insert the hinge pins (Ampex Part No, 31 01322 10) through the

hinge block into the hinge portion of the cast main frame, Tight-
en the screws securely,

2-4



AMPEX

AMPEX COMPUTER PRODUCTS COMPANY

!
A 8-32 X 1/4"
“ & PAN HEAD
S 8 FLAT WASHER
| SPACER 31 002I6 I0
HINGE PIN STOP ARM
3l o322 10 31 01282 10
HINGE BLOCK
] @3 310132110
e
34 13/16
3112 D)
&)
7Y
4
32" RACK CABINET SPACER 31 00216 10
o ] TAPE TRANSPORT #8 FLAT WASHER
i0 172"
STOP ARM BRACKET 3! 01324 10 yy
%) 8-32 SELF LOCKING NUT 0
3 01282 10
(ITYP2)
Jo
3 172" 4
‘ "
© + . 4 X 1/2 PANHEAD LIP OF RACK
Tvr Yy & iz &
* #12 LOCK WASHER
HOLE PATTERN 1 13/732"
FOR MOUNTING
HINGE BLOCK , * #12 FLAT WASHER
— 5/8" -
Figure 2-2

Tape Transport Mounting

2-5



TM-Z Tape Transport

INSTALLATION
Step 5: Place the transport electronics assembly in position and fasten

Step 6:

Step 7:

Step 8:

2-6

to the side rails of the rack using the 12-24 by 3/8-inch pan head
screws and #12 lock washers provided, Vertically-mounted
transport electronics assemblies are fastened to the rack face
with eight screws; horizontally-mounted transport electronics
assemblies are fastened to the rack face with four screws, The
balance of hardware supplied with the horizontally mounted
transport electronics assembly may be discarded,

NOTE

If a horizontally-mounted transport electronics assembly
is used and a manual control panel is included in the
system, the two Ampex Part No, 31 01151 10 brackets
(supplied with the manual control panel) should be
installed with the transport electronics assembly as
shown in Figure 2-3, If a manual control panel is to

be used with vertically-mounted trahspor'c electronics
assembly, the two Ampex Part No, 31 01151 10 brackets
should be mounted separately from the transport elec-
tronics assembly,

Fasten the manual control panel to the Ampex Part No, 31 01151 10
bracket (Figure 2-4) using the four 6-32 by 3/8-inch flat head
screws supplied with the manual control panel,

Using the dimensions and mounting details shown in Figure 2-5,
select a location for the voltage regulator. Mount this unit using
the hardware provided,

Erect the rack, Bolt the rack to thg floor,

CAUTION |

Do not attempt to swing the tape transport from the face
of the rack until the rack is securely bolted to the floor,



AMPEX

AMPEX COMPUTER PRODUCTS COMPANY

HORIZONTAL MOUNT

YPICAL

"PLACES 12-24 X 3/8

[ #12 LOCK WASHER

BRACKET
PART NO. 31 0li51 10
(SUPPLIED WITH MANUAL CONTROL PANEL)

VERTICAL MOUNT

TYPICAL
8 PLACES

" $#12 LOCK WASHER
12-24 X 3/8 _

Figure 2-3 )
Transport Electronics Assembly Mounting



TM-2 Tape Transport

INSTALLATION
Step 9: Fasten the ground strap from the transport to the rack using the

Step 10:

Step 11:

2-8

12-24 by 5/16-inch screw and #12 lock washer provided with the
tape transport,

Mount the Ampex Part No, 31 01324 10 bracket on the back of the
face of the rack cabinet using the 12-24 by 1/2-inch screws pro-
vided with the tape transport,

Assemble the two Ampex Part No, 31 01282 10 stop arms provided
with the tape transport as shown in Figure 2-2, Fasten the
assembly to the bracket attached in step 10 using the 8-32 by 5/8
screw, #8 flat washer, Ampex Part No, 21 00216 10 spacer, and
#8 self-locking nut as shown in Figure 2-2, Fasten the other end
of the assembly to the top of the transport using the 8-32 by 1/4-

BRACKET
PART NO. 65523-10

/g
e
/.
0

resg-—— LIP OF RACK

4 SEE NOTES

00 o 00 0%

S

NOTE:

BRACKETS AND ALL MOUNTING HARDWARE
SUPPLIED WITH MANUAL CONTROL PANEL.

WHEN INSTALLING IN FRONT OF A
HORIZONTALLY MOUNTED CONTROL POWER
SUPPLY, THE 65523-10 BRACKETS MUST BE
SECURED IN PLACE DURING INSTALLATION
OF THE CONTROL POWER SUPPLY.

SEE FIGURE 2-3

Figure 2-4
Manual Control Panel Mounting



AMPEX

AMPEX COMPUTER PRODUCTS COMPANY

inch screw, #8 flat washer, and Ampex Part No, 31 00216 10 spacer
as shown in Figure 2-2,

Step 12: Fasten the air filter assembly to the rack at some convenient loca-
tion., Connect the hose from the air filter to the positive pressure
blower inlet, using the hose clamp provided,

NOTE

The air filter is designed to mount at the rear of the rack
cabinet, If this scheme is used, the rear door of the cabi-
net must be louvered or otherwise opened to permit air flow,

/
k’\

0000000
000000

Q
i)
7 13/16" / 13 1/8"
Y

6 15/16"

Lo

s//;\l‘

N

60 CYCLE 50 CYCLE

Figure 2-5
Voltage Regulator Mounting

2-9



TM-2 Tape Transport

INSTALLATION

TAPE TRANSPORT
=

—— TB709
r/

VOLTAGE REGULATOR

3352 | controL
POWER
SUPPLY
J3o1
P301
\ '\ J302
S| 104
S
CUSTOMER FABRICATED CABLE TO
' EXTERNAL CONTROL CIRCUITRY
CUSTOMER FABRICATED CABLE
CUSTOMER FABRICATED CABLE 70 POWER SUPPLY
TO WRITE CONTROL CIRCUITRY

Figure 2-6
Cabling Diagram

2-10



AMPEX

AMPEX COMPUTER PRODUCTS COMPANY .

Step 13: Provide a source of cooling air through the rack, A minimum
flow of 400 cfm over the reel motors is required, Cool air
should be drawn in through louvers at the bottom of the rack and
expelled at the top.

WARNING

Inadequate cooling may permit excessive heating of
the reel motors, thereby imposing program restric-
tions which prevent full realization of the designed
potential,

Step 14: Install cover panels over unused portion of rack,

Step 15: Mount the head assembly on the tape transport by means of the
socket head cap screws and flat washers provided, Connect the
head connectors to the receptacles on the tape transport, taking
care to connect the write head to the write receptacle, the read
head to the read receptacle, Fasten the screws which secure each
connector to its receptacle.

2-15, CABLING (Figure 2-6)

2-16, All cable connections to the tape transport are made through a con-
nector chassis on the transport electronics assembly, This component
also serves as a central point for most connections within the tape transport,

Step 1: Connect the cable captive to the tape transport to J301 on the trans-
port electronics assembly,

Step 2: Connect the 117 vac power source to J302 on the transport elec-
tronics assembly, A mating connector for this purpose is fur-
nished with the tape transport, and should be wired as follows:

Pinlo;ooooooooooooooooooono.oGround
Pinzoooooooooooooooooooooooo117va‘c(h0t)
Pin3.0..oo'oooo.oooo.oooo.oo117vac(common)

2-11



TM-Z Tape Transport

INSTALLATION

UPPER LEADER
SENSING POST

LNNER

P304

w ™
Y 2| TAPE LEADER SENSE UPPER INNER
- %‘}_ 1| TAPE LEADER SENSE LOWER INNER MAXIMUM CAPACITY: 60 MA
15[ TAPE L7ADER SENSE UPPER OUTER | \\ /0 o0
19| TAPE LEADER SENSE LOWER OUTER
27| DOOR INTERLOCK
LOWER LEADER 12| LOOP WARNING
SENSING POST 16l auTO READY
BASE
w m ~1 |3|PHOTOSENSE LEVEL COMMON
_ 10 VDC LEVEL CHANGE
al"iNNER 4| PHOTOSENSE LEVEL LOAD POINT INTO JoK OrimMS ON TaB
= . ~| |5]PHOTOSENSE LEVEL END-OF FILE RISE/FALL TIME
OUTER FROM —| |7|PHOTOSENSE END-OF-FILE RELAY SWINGER) 3 MICROSECONDS
PHOTOSENSE< — |8 |PHOTOSENSE END-OF-FILE RELAY N.C.
UNIT — |9|PHOTOSENSE END-OF-FILE RELAY N.O. MAXIMUM CAPACITY 1O VAC
—| |32| PHOTOSENSE LOAD POINT RELAY SWINGER [ AT 500MA RESISTIVE
—""|35| PHOTOSENSE LOAD POINT RELAY N.C.
UPPER TAPE |~ [13| PHOTOSENSE LOAD POINT RELAY N.O. AUTO FORWARD INPUT
OLLOWER ST Ty
|33| TAPE FOLLOWER SWINGER Mo 54 +25
712 34{uPPER TAPE FOLLOWER N.C. A w1 MAX
: ISE/FALL
T0 - | {17{ AuTo FORWARD INPUT — "] auto reverseneut | TSEF
AG 400 18[AUTO REVERSE INPUT Nl T 10 MICRO-
LOWER iNPUTS || |,,[AUTO COMMON NPT AUTO COMMON INPUT | SECONDS
TAPE FOLLOWER 1 [AUTO FAST Al
571 —1 GROUND. sooptoAUTO FAST INPUT_ | L, ype
— el |
y K701
FAST
CR705 RELAY J30 13\03
] K2a
10 reer (-] |25]UPPERREEL BRAKE RELEASE
L BRAKE LOWER REEL BRAKE RELEA K28
= SOLENOIDS{—| |24 sl
K2 POWER
s3
KIINTERLOCK
100 MILLISECOND
FROM =
TRANSPORT- |34ft14Y0C x
ELECTRONICS FF o
FORWARD ON oF z
-1 |4 Son IS2A R
TO AC-400 41| FORWARD OFF £OR | S x
MANUAL REVERSE OFF FE° 1 = 2
INPUTS 1 |44 FF 1 w
| |4o|REVERSE ON H a
Fo ]
SEE NOTE | Sn‘ﬂ_“°———°° 7 My a
35| MANUAL FAST inBglE! o : >
A -
fauto aEADYI@l sacu__}_gjf____ o
= Mo |
o[ AUTO READY |
7
LOWER LOOP _ UPPER LOOP |
WARNING WARNING |
5707 $706 A
13| LOOP WARNING TOWER Is46
DOOR LEADER CLAMP LEADER di+o—
INTERLOCK INTERLOCK - Mi
8 5709 INTERLOCK Al 45
“°ITAPE LEADER SENSE UPPER OUTER REMOTE UPPER !S4H sgfr\??n
LEADER
10| TAPE LEADER SENSE LOWER OUTER REMOT g DELAY
TAPE LEADER SENSE UPPER OUTER 2 K$
TAPE LEADER SENSE LOWER OUTER| |,
4 t
52 VAC FROM 33 ;
TRANSPORT 6 -24 voc :
[FOWEE] ELECTRONICS 36
P30z 239 €B301 SiA 43
i
51117 vac HOT 830 " A SECOND
CB302 si8 DELAY =
117 VAC B30 e |
COMMON 17 vac 1
1 < |50 K2¢ A sy
TO TRANSPORT J | 39 117VAC HOT |DELAYED-TO SERVQO ANODE N SB
== ELECTRONICS 117 VAC HOT TRANSFORMERS g
49 ™
NOTES
LEGEND
1. K3 TO ACTUATE AFTER 2 SECONDS, El/ SI POWER S4 MODE SELECTOR
REMAIN ACTUATED 10 SECONDS __[— S2 MANUAL MODE CONTROL & AUTOMATIC
= FF FAST FORWARD SB STANDBY
F FORWARD M MANUAL
s sToP Kl INTERLOCK RELAY
R REVERSE K2 POWER- RELAY
FR FAST REVERSE K3 OVERSPEED RELAY
S3 LEADER DRIVE K4 LOWER LEADER RELAY
K5 UPPER LEADER RELAY

2-12

Figure 2-7

Typical Control Circuitry



AMPEX

AMPEX COMPUTER PRODUCTS COMPANY

Step 3: If a manual control panel is supplied, connect the cable captive to
the manual control panel to J303 on the transport electronics as-
sembly, If no manual control panel is supplied, suitable similar
circuitry must be connected through J303; see Figure 2-7,

Step 4: If the tape transport is to be programmed from the tape control
unit of a computer or other external source, connect this source
through J304 and J305 on the transport electronics assembly,
Mating connectors are supplied with the tape transport, Typical
control circuitry is indicated in Figure 2-7.

Step 5: Connect the voltage regulator cable fanning strip to TB709 on the
rear of the tape transport,

Step 6: Connect the cooling fan for the rack cabinet to terminals 1 and 2 on
‘TB709, unless the power for this fan is to be supplied elsewhere,

2-17, HEAD CABLE CONNECTIONS,

2-18, The write head cables are terminated in 19-pin male Cannon connec-
tors, one connector being used for each eight track cable, The read head
cables are terminated in similar 19-pin female Cannon connectors, Mating
receptacles are provided on Ampex signal electronics assemblies; when no
such electronics are provided, mating connectors must be furnished by the
user,

2-19, The pin assignments of write and read head connectors are identical,

and are shown in Figure 2-8, The numbers shown in parentheses in Figure
2-8 refer to track assignment on the cable for tracks 9 through 16,

2-13



TM-2 Tape Transport
INSTALLATION

ﬁ - < © m ~ 0 o by v © =] 0 ~ ] = © o
I
e T~ T~ A\\-/ T~ sT~ ~\.n/ TN
A’l\\ ,,\\ ,l\\ /l\\ —— ’ ,"\ ,ll\ ’I‘\
——_t e e s e —— e — g — — ==~
( ~—
{
/‘ll'llllllIII-'III"III"‘IIlll(
\.lll.llll'.ll!l-lll|l|n|'l|ltn|'|/l|ll|l..ll|||'||’
/
{ ‘In
/l'L_I'IllII.Illl..l:llllll.llllllllllll.lllol.llll\

TRACK | (9)

TRACK 2 (10)

71N A\
Il\\ N

o

2]

5

<

o

=

TRACK 4 (12)

T 7T~ A\.
\L”/ NL- N

- —

L) &

S L4

) ©

x X

(5]

2 2

(= =

TRACK 7 (I5)

N,

TRACK 8 (l16)

CONNECTOR BOX

Figure 2-8
Head Cable Connections

2-14



